Honors Finite Math Group Work - Unit 8 Name

NO CALCULATOR

For #1 — 2, find the x- and y-intercept(s).
1. x¥*=9)° =9 2. X’ +4x+1y*=2y=0

2
X

x=2
(@ f(-x)= (b) —f(x)= © f(x+2)= (d f(x-2)=

3. Find the following for f (x) = . Simplify your answers!

For #4 — 5, find the domain of each function.

4. X)=+x+2 5. X)=
S (x) /() x*-3x-4
For #6, (a) find the domain of the function (b) locate any intercepts
(c) graph the function (d) based on the graph, find the range

X +4 ifx<0
4—x* ifx>0

6. f(x)z{

For #7-8, write each expression as a single logarithm.

7. lnerln(x2 —1)—41n(x+4) 8. %[2111(x+3)+1nx—1n(x2 —1)]



For #9, use the product, quotient, and power rules of logarithms to rewrite the given logarithmic.

fmsn4
9. log,? -

10. Use the given graph to find the following ihformation. A ¥

(a) domain = 5 u

(b) range (0, 4) ?W@(al 4} '

(c) intervals where graph: - ; 3 ¥= ﬁﬁ)
increases 3 ' ﬁﬁ, I)

80 g 1 ®

decreases ) =mé 4o vy I
constant ~by~-5-4 _-3 -!_1 - 12 3 4 5 )

(d) intercepts " oL '

{(~4,-2)
Solve for x. Leave answer in exact form. (NO CALCULATOR)
11. 3> =4 12. 6! -3=2

13. log,(x+1)=3

15. 100(1+0.02)" =150 16. log, (log, x) =1

17. Find the difference quotient, / (x il hz ntd (x)

14. 1n6x=ln2+ln(x—4)

, h=0 for f(x)=4x-2x"

£



